SERPAC 1142HL

Electronic Enclosures

9.71
OVERALL LENGTH .82 INSIDE 2.87 INSIDE
A TOP HEIGHT BOTTOM HEIGHT
i i
it
4 = : = L
. 8.23
| OVERALL
| B WIDTH
| 6.26 MAXIMUM
INSIDE WIDTH
i 4.25 6.06 MINIMUM
| | BOSSES INSIDE WIDTH
| |
. - E
0 o 1 <
(= & =7, SECTION J
& = .
N E—— & B | A_A \ o
A-<a
6.25 BOSSES
y —2 Mounfting Brackets included, see
sheet 2 for dimensions and for optional
mounting Corner Feet and Brackets.
8.16 MAXIMUM I
INSIDE LENGTH
g /V e \
7 V _UL listed to UL 508A 4/4X standard
4.00 (UL file E519183).
SN -Material: UV stabilized Polycarbonate
CASE O\/Arléeléi\LL Flammability VO, F1 rated material.
HEIGHT -Watertight enclosure meets or
HEIGHT exceed Nema 4 and or IP67.
[—m [LZ\ PARTS INCLUDED _
< * § Aluminum and Plastic Panel Kits are N Q:Y' — 3;;2"5;‘%1 =5
(7 \L D available as options, see sheefs 3-6. IT40MLB |1 | 1740 Hinge Lafch Boffom
FOR #10 44 BOSS The aluminum panel opfions are: 7011PCM| 2 |Safety Latch for I-Series (PC)
SELF TAPPING HEIGHT Bottom Panel Kit p/n 71008 8150 | 1 150 ORing
SCREW o s MINIMUM SECTION Top Panel Kit p/n 7100T 1305 2 Mounting Brackef
INSIDE LENGTH B-B Hinged Top Panel Kit p/n 7100TH 6028 | 4 SS #10 X 5/8" Pan H/L
The plastice panel option is: 4/20/2021
Hinged Panel Kit p/n 7100HP 2009 Wright Ave. La Verne, CA 91750

Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




SERPACI142 Mounting Bracket Dimensions

Electronic Enclosures

4X @ .29 FOR
7.80 FLANGE LENGTH 1/4" SCREW
6.00 (4) SCREW
pn 6028
22\
= a2 &8 ( INCLUDED STANDARD
= O\ 1305 FLANGE KIT
PARTS INCLUDED IN KIT PN 1305
P/N Qty. Description
1305 2 Mounting Bracket
6028 4 SS #10 X 5/8" Pan Combo H/L Screw
TOP & LATCHES REMOVED
FOR CLARITY FROM ALL VIEWS
OPTIONAL 1304 CORNER FEET KIT /&\\ — — — — | /' / OPTIONAL 1355 CORNER BRACKET KIT
oD = e 41 o | ol TINCUDED M 1
PARTS INCLUDED IN KIT pn 1306 LT ' : 1355 4 Mounfing Corner Bracket
]PS/C')"é Q;”- Moun‘;ﬁ;‘%‘g‘;ﬁ; _— / 6028 4 SS #10 X 5/8" Pan Combo H/L Screw
6028 4 SS #10 X 5/8" Pan Combo H/L Screw
7.63 4X D 29 FOR | 4X @ 33 FOR 2.58
85 1/4" SCREW 1747 SCREW
=5 X
\Y)) <
2
_ @@
@ o
7 48 /.64
. _ _ _ _ _ _ i - 6.10
(4) SCREW
473 pn 6028
(4) SCREW o
pn 6028
O
© %
| | b, )$
3 N ©
€
(4) CORNER BRACKET 810
pn 1355 9.64
475 gtr)] CORNER FEET 4/20/2021

2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




7100T Aluminum Top Panel Kit for
SERHPAC 1142HL., I1152HL and I152HS

8.10
—(4) SCREW
pn 6028
| j |
| GROUND STRAP
HOLE
L
(.
6.20 @
= ©
\PANEL
pn 71040
& \
* ) \
R.35 OPTIONAL KIT
4x pn 7100T
PARTS INCLUDED IN KIT pn 7100T
* | 'C%' 'C|l | P/N Qty. Description
71040 1 Aluminum Top Panel
13 % 6029 4 SS #10 X 3/8" Pan HL Screw
11/08/2021

2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




SERPAC 71040 Aluminum Top Panel

Electronic Enclosures 1142H L

I1152HL and I1152HS

R.35

8.10 - |
A 4 PLC'S
O | O
35—
D7
6.20
5.66
@ .20 THRU
4 PLC'S
7.56 —

11/08/2021
2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




7100B Aluminum Bottom Panel Kit for
SEREIPAC 1142HL., 1152HL and I152HS

6.87

(" R
9
| GROUND STRAP

HOLE

(4) SCREW pn 7200
pn 6029

‘

\

OPTIONAL KIT
pon 7100B

_—— — ! PARTS INCLUDED IN pn 71008

i ] P/N Qty. Description

71000 1 Aluminum Bottom Panel
— .13 6029 | 4 SS #10 X 3/8" Pan HL Screw

11/08/2021

2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




7000 Aluminum Bottom Panel
SERPAC 1142HL., 1152HL and I152HS

6.87

@ 20THRU
4 PLC'S

1.71

2 Ja oo

\R.Oé

- 4PLC'S

— .13

4/20/2021
2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




7100TH Aluminum Hinged Top Panel Kit
SEREIPAC for IM142HL, I152HL and I152HS

SCREW (2)
pn 6029 — PANEL HINGE A

pn 1308

PANEL HINGE B
pn 1309

(2) SCREW pn 6028 and
(2) NUT pn 6105 (not shown)

GROUND STRAPﬁ

HOLE

HINGE PIN (2)
pn 1307

XPANEL

pn 71020

SERPAG

OPTIONAL KIT

pon 7100TH
—(2) SCREW
pn 6028
8.10
PARTS INCLUDED IN pn 7100TH
P/N Qty. Description
13 /1020 | Aluminum Hinged Top Panel
R 6029 2 SS #10 X 3/8" Pan HL Screw
_— W % 6030 2 |SS #10-32 X 3/8" Pan Combo Screw HL Screw
| ru 6105 2 SS #10-32 X1/8" Nut
f 6028 2 SS #10 X 5/8" Pan Combo HL Screw
j' |\ 1307 2 Hinge Pin
1308 1 Panel Hinge A
]

1309 Panel Hinge B

11/08/2021

2009 Wright Ave. La Verne, CA 21750
Ph. (6268) 331-0517 Fx. (626) 331-8584 serpac.com




PAG

ectronic Enclosures

71020 Aluminum Hinged Top Panel
1142HL, I1152HL and I152HS

~— 1.71

3.09
35— 1.36
B § )
O .7 j
R13 O
6.20 2.12
5.45
2.83
@ .20
4PLC'S \3
378 /& R.38

— .13

%

4/20/2021

2009 Wright Ave. La Verne, CA 21750
Ph. (6268) 331-0517 Fx. (626) 331-8584 serpac.com




SERPAC 7100HP Plastic Hinged Top Panel Kit for

Electronic Enclosures I‘I 42H I_' I1 52H I_ qnd I1 52HS

8.12
A~
o~
\'s \ 4}.\
HINGE (LEFT) HINGE (RIGHT)
pn 1310 pn 1311
B B
6.19
5.95 PANEL
Customizable /7pn 71021
Area
SCREW (4)
\ pn 6028
e)
N —
A ] 86 x 45°
TYP

7.88
Customizable Area

7.82

=

SECTION B-B

o

SECTION A-A

ﬁ-\\\®
O\ \
78
= S
/'“\
Q
oIl
Y
OPTIONAL KIT
on 7100HP
PART INCLUDED IN pn 7100HP
P/N Qty. Description
71021 1 Plastic Hinged Top Panel
1310 1 Hinge - Left
1311 1 Hinge - Right
6028 4 SS #10 X 5/8" Pan Combo H/L Screw

11/10/2020

2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




SERPAC 71021 Plastic Hinged Top Panel
Slectronic Enclesures. [ 1 42HL, 1T152HL and 1152HS

8.12 — =—.10
B —
/ \ T
A A
* * 5.89
5.95 6.19
CusTor'nizoble
Ared
2.82
.02
RECESSED
© @]
X— | = é
3.78 - 84 X 45° 45
s = 7 88 N 4PLC'S o 57 -
Customizable Area
SECTION B-B
7 ‘
7.82 SECTION A-A

11/10/2020

2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




X-ON Electronics

Largest Supplier of Electrical and Electronic Components
Click to view similar products for Electrical Enclosures category:
Click to view products by SERPAC manufacturer:

Other Similar products are found below :

120-403 MR-25L+ 110-402 A242012LP A16N12BLP 111-005 9511096 9511016 PC 30/25-FC3 127-406 127-906 79021101 EKIV 17
EKIV 37 2327000 2534100 18600801 19001201 19001301 19501001 19701101 19600901 TM 0808 TRH 24 A317SEAL A3735SEAL
A3783SEAL X16C LGR-TR X25CLGR-TR T 160 OEHD LGR T 3500EHD LGR T60M20 T 60 M20 NL SDB 03 PS P2018SEAL
2763-00 2765-00 2761-00 00 070 00 071 0212-00 0213-00 0217-00 0221-00 0222-00 0224-00 0225-00 0226-00 0226-10 0226-11



https://www.xonelec.com/category/enclosures/standard-electrical/electrical-enclosures
https://www.xonelec.com/manufacturer/serpac
https://www.xonelec.com/mpn/altech/120403
https://www.xonelec.com/mpn/hondaconnectors/mr25l
https://www.xonelec.com/mpn/altech/110402
https://www.xonelec.com/mpn/nvent/a242012lp
https://www.xonelec.com/mpn/nvent/a16n12blp
https://www.xonelec.com/mpn/altech/111005
https://www.xonelec.com/mpn/fibox/9511096
https://www.xonelec.com/mpn/fibox/9511016
https://www.xonelec.com/mpn/fibox/pc3025fc3
https://www.xonelec.com/mpn/altech/127406
https://www.xonelec.com/mpn/altech/127906
https://www.xonelec.com/mpn/spelsberg/79021101
https://www.xonelec.com/mpn/fibox/ekiv17
https://www.xonelec.com/mpn/fibox/ekiv37
https://www.xonelec.com/mpn/rittal/2327000
https://www.xonelec.com/mpn/rittal/2534100
https://www.xonelec.com/mpn/spelsberg/18600801
https://www.xonelec.com/mpn/spelsberg/19001201
https://www.xonelec.com/mpn/spelsberg/19001301
https://www.xonelec.com/mpn/spelsberg/19501001
https://www.xonelec.com/mpn/spelsberg/19701101
https://www.xonelec.com/mpn/spelsberg/19600901
https://www.xonelec.com/mpn/fibox/tm0808
https://www.xonelec.com/mpn/fibox/trh24
https://www.xonelec.com/mpn/gainta/a317seal
https://www.xonelec.com/mpn/gainta/a3735seal
https://www.xonelec.com/mpn/gainta/a3783seal
https://www.xonelec.com/mpn/obobettermann/x16clgrtr
https://www.xonelec.com/mpn/obobettermann/x25clgrtr
https://www.xonelec.com/mpn/obobettermann/t160oehdlgr
https://www.xonelec.com/mpn/obobettermann/t350oehdlgr
https://www.xonelec.com/mpn/obobettermann/t60m20
https://www.xonelec.com/mpn/obobettermann/t60m20nl
https://www.xonelec.com/mpn/obobettermann/sdb03ps
https://www.xonelec.com/mpn/gainta/p2018seal
https://www.xonelec.com/mpn/elektro-plastnasielsk/276300
https://www.xonelec.com/mpn/elektro-plastnasielsk/276500
https://www.xonelec.com/mpn/elektro-plastnasielsk/276100
https://www.xonelec.com/mpn/abb/00070
https://www.xonelec.com/mpn/abb/00071
https://www.xonelec.com/mpn/elektro-plastnasielsk/021200
https://www.xonelec.com/mpn/elektro-plastnasielsk/021300
https://www.xonelec.com/mpn/elektro-plastnasielsk/021700
https://www.xonelec.com/mpn/elektro-plastnasielsk/022100
https://www.xonelec.com/mpn/elektro-plastnasielsk/022200
https://www.xonelec.com/mpn/elektro-plastnasielsk/022400
https://www.xonelec.com/mpn/elektro-plastnasielsk/022500
https://www.xonelec.com/mpn/elektro-plastnasielsk/022600
https://www.xonelec.com/mpn/elektro-plastnasielsk/022610
https://www.xonelec.com/mpn/elektro-plastnasielsk/022611

